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01. The chief or primary photosynthetic pigment
of cyanobacteria is
(1) Phycocyanin
(2) Phycoerythrin
(3) Chlorophyll-‘a’
(4) Carotenoid
02. Which of the following is true in relation to
museum?
(1) It deals with living objects
(2) It is mainly connected with ex-situ
conservation
(3) Larger animals are never preserved in
museums
(4) It deals with preserved objects and
materials of both plants & animals for
study and reference '
03. Choose incorrect statement from the
following. _
(1) Cercbral aqueduct passes through |
(2) Human kidneys excrete 25 — 30 gms of
- ureaperday QTS
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05.

(3) Calcium jons are essential for blood

clotting and muscle contraction
(4) Deficiency of iodine in diet can cause
goitre
Excretory organs in crustaceans
(1) Gills
(2) Green glands
(3) Proboscis gland
(4) Malpighian tubules
Identify the correct statement in relation to
acellular slime moulds :
(1) Parasitic naked = multinucleated
plasmodium, spores without walls

dispersed by air currents

(2) Saprophytic  naked multinucleated
plnsmodmm, spores  with  walls
dispersed by water currents.

(3) Saprophytic thin walled multinucleated
pmmmmwiM'm
dispersed by water currents ‘

(4) Saprophytic ~ wall less  naked

- multinucleated pllmodm lndm

with walls dispersed by air currents




(0. Which of the following interspecific

06, Someti . I
induce dulimmmﬁﬁ t:rm m‘eﬂﬂlﬂ'ﬁ: interaction involves coevo.lutinn and acts as a
Which hormone is injected? How does it natural check for one species poi:lullltlﬂﬂ?
induce delivery? (1) Abingdon tortoise and goats
(1) Mifepristone to induce abortion by (2) Sea anemone and clown fish

stimulating uterine contractions (3) Plasmodium - human
(2) Relaxin to induce labour pains (4) Fig— wasp
(3) Cortisols to suppress foetal rejection 11. Carpels are obliquely placed in
(4) Oxytocin  to  stimulate  uterine (1) Ashwagandha
contractions, (2) A.!'pﬂms"-?
07. Match the column A with column B (3) Muliathi
Column - A Column - B (4) Mustard
_i;Smm A. Bryophyte 12. The first meiotic division during
I1. Salvia B. Pteridophyte gametogenesis of human produces
1. Salvinia C. Alga b v
IV. Sphagmam | D, Angiosperm | (2)/-Seodnd polar body
T ee— (3) Secondary spermatocyte
0 m v T (%2, rasross
A C R Pk 13. Protoxytem lies towards the medolla in
. primary xylem of
@ C DV BasA (1) Dicot root only
G)C D A B (2) Monocot root only
4B D B, A : (3) Dicot stem

08. Choose the correct set of physiological (4) Both 1 &2 _
barriers of innate immunity in the human | 14, The ex sit conservation methods of
digestive tract. biodiversity for animals
(1) HC!in stomach, lysozyme in tears (1) Safari park and sperm banks
(2) Peyer's patches, saliva (2) Sacred grove and zoological park
(3) Kupffer cells of liver, mucus (3) Botanical garden and seed banks
(4) HC! in stomach, lysozyme in intestine (4)" Tissue culture method and pollen banks

09. Stamens are attached to perianth/tepals in the | ' :"U“mwchniulmﬂmmﬁnmm

, #L .
L b S e =4 (1) Formed by redifferentiation process
() Pea A only e
(2) Lily . PR AR S (2) Interior to vascular cambium
(3) Brinjal | SR (3) Exterior to vascular cambium
(4) China rose LIPETNNG () Formed by dedifferentiation process
| ' only

Sgl gl g Page2 . ' Hyderabad




16, Volume of alr that remaing (n the lungs after | 21, Choose the correct matohing of the given
normal explration ts ftoma with thelr corresponding group.
(1) Expiratory reserve volume  [Tems ma* 8%
() Punotional residual oapacity [ iT-_M:ﬁﬂ_‘;lll-l '1;:’“;* wﬁmﬁ;idf;;_ i
(1) Expiratory capacity soapuln
(4)  Residual volume [(2) [ Medulls, — pons, | Braln stem
17. Which complex tissue element is absent in verebellum
most of the monocotyledons ? () | Frontal, ethmoid, | Cranial bones
(1) Collenchyma sphenoid
(2) Xylem parenchyma (4) | Fovea, maculs, | Retina of eye
(3) Phloem parenchyma optic dise
() Sieve tube elements 22, [dentify the genetic trait from the given
18, DNA and RNA  digesting onzymes are pedigree  unalysis by observing the
mainly found in inheritnee pnll‘.l.m
(1) Nucleus )
(2) Mitochondria
() Lysosomes o_.._r_l'_] O & o ﬂ
(4) Nucleolus
19.  Which of the following is a nucleoside 7 r—?) rﬂ
(N Uridinc_ (1) Haemophilia :
() Guanine | (@) Sickle - cell anacmia
(3) Thymine _ (3) Myotonic dystrophy ~ *
. (49 Cytosine ' (4) Incontinentia pigmenti
20. A person with peptic (stomach) ulcers is 23, Which hupt true mnmﬁ
likely to suffer with | ‘ (1) Itserves as a cofuctor
(a) Indigestion (2) It has two nucleotides
(b) Anaemia e (3) It contains vitamin by .
() Glucosuria (4) It can act as coenzyme of malate
(d) Stones in gall bladder . dehydrogenase
(¢) Vomiting | | 24, Radula is found in
(1 abe | ol Apbsia
) bed it Q) Ascidia f
Ww
() e de Ao () dntedon
@ acd (4) Adamsia
st
Sri Chaitanyn : lea_‘ ' - fw




25,

26.

28.

29.
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Choose mismatch from the following

(1)
(2) Metaphase — I — Bivalents align on the

Diakinesis — Final stage of meiosis — [

equatorial plate

(3) Telophase — Nucleolus, Golgi complex
and ER are reformed

(4) Anaphase -~ II - Splitting of the
centromere of each chromosome

Choose correct combination with reference to
human evolution
(1) Australopithecines — hunted with stone

weapons about 1.5 mya

(2) Homo erectus — first hominid with brain
capacity of 650 cc and ate meat

(3) Neanderthal man ~ lived in central Asia
and buried their dead

(4) Homo sapiens - developed prebisturic
cave art about 1,00,000 years agu .

The phenomenon of osmosis can be
demonstrated by

(1) Bell jar experiment

(2) Hydrilla funnel experiment

(3) Thistle funnel experiment

(4) Moll’s half leaf experiment

Which sexually transmitted infection
affecting the genital organs is not completely
curable? AN
(1) Genital warts

(2) HIV

(3) Goaorrhoca

(4) Genital herpes

Main force responsible for guttation is

(1) Transpiration pull '

(2) Negative hydrostatic pressure

(3) Root pressure

(4) Hydathodes

30.

31.

sy &

33.

&)

Identify the micronutrient that  delays
flowering if its concentration in plants is low
(1) Nitrogen

(2) Sulphur

(3) Molybdenum

(4) Al

Choose correct pair

(1) Balanus and  Balaenoptera -

Competition

(2) Sea anemone and clown fish -
Commensalism

(3) - Entamoeba and human — Ectoparasitism

(4) Cuscuta and hedge plant — Amensalism

A woman is using oral pills for 21 days as a

method of contraception. Which of the

following reproductive changes is seen in her

during the usage of pills?

(1) High levels of progesterone by corpus
luteum inhibits ovulation

(2) Menstruation due to degeneration of
corpus luteum

(3) Increased secretion of FSH due to

increased levels of estrogen

Absence of ovulation due to inhibition

of gonadotropins  secretion by

progestogens

Select mismatch from the following

(1) RuBisCO — Largest enzyme molecule

found in mesophyll cells of C4 pinn’u

RuBP — 5-carbon ketose sugar

OAA -~ First formed product of C,

pathway ‘

(4) PEP - Primary acceptor of CO, prosent

~ in mesophyll cells of C, plants

“@

2)



Complex IV of ETS of inner mitochondrial

34, (3) Statement A is correct but statemen! I
membrane refers to " 4 incorrect
(1) Cytochrame ‘c’ oxidase complex (4) Statement A is incorrect but slatement
(2) Cytacﬁmmc ‘¢’ reductase complex B is correct
(3) Cytochrome ‘be;’ complex 19, Select incorrect match from the following
CF P ¢ i, (1) Phylloclade ~ Modified leaf
35 Which of the following 1s not a vector borne
disease? (2) Thom ~ Modified stem
(1) Dengue (3) Spine ~ Modified leal
" (2) Filariasis 4) Fncumnmphqm Modified roots |
(3) Delhi boils 40, The picture given below represents the
{(4) Diphtheria regulation of hypothalamus on pituitary.
36. Placental mammals in Australia are adapted Choose the answer with correct option for A,
to live in diverse habitats. This explains B,C,Dand E.
(1) Adaptive radiation
(2) Convergent evolution
(3) Homoplasy
(4) Stabilising selection
37. ‘Which phytohormone promotes root growth
and root hairs formation in an intact plant 7
(1) Auxins
(2) Ethylene
(3) Cywkinins
(4) Gibberellins
38. Read the following and choose correct (2) B,Am{'b_mﬂ
oo (3) B - Somatostatin, E ~ Anterior pituitary
Statement A: Ein-divmity hot spots: deserve (4) B-GnRH,D-LH
strict protection for many threatened species, ;
Statement B: Species endemism and richness 41, . Coiling ot‘g:‘r.thnputendril.l:rumdthe
is high in Western Ghats. : support due o fuch is an example of
(1) Both statement A and statement B are (1) Thigmotaxis e
imeomrect (2) Thigmonasty
(2) Both statement A and statement B are 3) Tharmom
correct ' : bt
(4) Thigmotropism
- i Pages W
w A



42. Read the following. 44, Match the contents in column I with column r
Animal Two Class/Phylum [I and choose the correct option. 1
characters [ Column I Column I '
A | Ichthyophis | Two pairs of | Amphibia || | A) Parkinson's discase | ) UV-B radiation
limbs, = 1T) Degeneration of
S.ihuhbossd B}Smwblindnm i
- heart ¥ : [I) Low level of
"B | Bchims | Water Bobinodermata || | © Immunodeficlency | o trogen
Faeowy ) Diabetes mellitus _ | 1V) Hyperglycemia
fyesom, E)Ustcopnm!i-l' V) Loss of dopamine
o ) A-V,B-1,C-IV,D-ILE~T
S on @) A-V,B-1C-I,D~IV,E~TI
C | Exocoetus | Placoid Osteichthyes (3) A-V,B-IL,C-1LD-IV,E-TI
s @#4) A-V,B-LC-ILD-IV,E-TI
operculum on 45. Both asexual spores and gametes are nom —
giﬁs motile in members of
D | Meandriaa | Coidoblasts, | Cidaria (1) Cymscbactess
e o (2) Rhodophyceae
compostl. of | (3) Phacophyceae
e i E © (4) Chlorophyceae -
carbonate | - 46. Male and female gametophytes do not have
Choose the option with correct set. an independent free — living existence in
(1) A,BD - (1) Cycas
@ B,C,D | (B)-clperie
. (3) Marchantia
Sl . () Dryopteris
. @ AC A | 47. The intin of pollengrain is
:-& Wﬂlﬂmq?wiﬂ (1) Mainly made up of sporopollenin
G Doktia : j (2) Thin and continuous layer made up of
st (3) Thick and discontinuous layer made w
(4) Thin end continsous layer made up of
cellulose and suberin
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AR, Matoh the contents in column - 1 with | 51,

column - 1 nn:l {dentify the correct option.

Column = | Column ~ i
APhenylketonuria | 1) Palm crense
z | 1) Mutant

1) Down's syndrome
' haemoglobin

C) Klinefelter s 111) Mental retardation

synidrome

1) Sickle cell _ :
_ IV) Gynuecomastin
anaemia

L N —

— e i = g s R e

E) Haemophilia

V) Deletion of ADA

gene

V1) Blood clotting
disorder

M A-LB-NMLC-IV,D-ILE-VI
2 A-ILB-LC-IV,D~ILE-VI'
) A-ULB-LC-V,D~IV,E~II
4) A-NULB-ILC-IV,P-LE-VI

49, Which of the following factors favour
dissociation of oxygen from

oxyhaemoglobin?
(n) High Ph

(b) High pCO,
(c) High temperature
(d) High pO,
(1) abe
@ bed
(3)  », bonly
(4) b, conly
50. Choose the incorrect pair
" (1) CFC - global warming
(2) Montreal protocol - 1997
(3) Jhum cultivation — deforestation

(4) Sanitary landfills - Undergroundm

L) aene h i

Page 7

52.

53.

-

The residual persistent nucellus present in the
seed in known as

(1) Perisperm

(2). Endosperm

(3) Aril

(4) Placenta

A couple is with *A’ and ‘AB’ blood group.
Which child determines the heterozygosity of
‘A’ blood group of the parent?

(1) B

(2) AB

(3) A

(4) ABorAor0O

Which of the following is not related to B

DNA molecule 7

(1) Two polynucleotide chains are
complimentary to each other

(2) Two polynucleotide chains have
antiparallel polarity

(3) Two polynucleotide chains are coiled in
a right ~ handed fashion

(4) The back bone of polynucleotide chains
are formed by sugar & nitrogen bases
with glycosidic bonds. f

Autoimmune disorder causing paralysis of

muscle £

(1) Tetany

(2) Muscular dystrophy

(3) Myasthenia gravis

(4) Sarcoma :

Histones mnchmhmcmunoandmdnu

(1) Lysines and Arginines

(2) Leucines and Arginines

(3) Lysinaamdﬁhninu_
" (4) Leucines and Alanines

Hyderabad




56.

57.

58.
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Increase in ventricular pressure of heart

causcs

'(n Closure of A-V valves

(2) Closure of semilunar valves

(3) Opening of A-V valves

(4) Ventricular filling

Which of the following biomolecule was the
first genetic material ?

(1) Ribose nucleic acid

(2) Deoxyribose nucleic acid

(3) Protein

(4) Lipid

Statement 1 : A transcriptional unit is a
portion of DNA molecule in which structural
genes flank the promoter and terminator
genes on cither sides and codes for 8 mRNA
molecule.

Statement II : A translational unit in mRNA
is the sequence of RNA that is flanked by
the start codon and the stop codon and codes
for a polypeptide chain

(1) Both SI & SII are correct

(2) Both SI & SII are wrong

(3) Only Sl is correct

(4) Only SII is correct

Which of the following is an introduced rice

variety in India ?

(1) Jaya

(2) Ratna

(3) Taichung Native -1
@) Al

* “Fimbriae’ are associated with

(l) Infundibulum of oviduct

2) White matter of spinal cord

(3) Glanspenis
(4) Isthmus of fallopian tube

- '-'-r"l;-‘c ¥ ~

S '-';l"

61.

62.

63.

Page 8

Hag fish, dog fish and devil fish are similar

in possessing the following features

(1) Marine animals with pharyngeal gills
for respiration

(2) Bilateral symmetry and true coelom

(3) Internal fertilisation and indirect
development

(4) Metamerism and closed circulation

The various trophic levels of a food chain are

given below.
Big tree —> Insects —» Insectivorous birds

—» Larger birds.

Which of the following ecological pyramid
explains the relationship between all trophic
levels?

(1) Inverted pyramid of numbers

(2) Inverted pyramid of biomass
(3) Spindle shaped pyramid of biomass
(4) Upright pyramid of biomass
Statins are produced by
(1) Streptomyces rimosus
(2) Monascus purpureus
(3) Trichoderma polysporum
(4) Aspergillus niger
The epithelium lining the GI tract cavity is
(1) Simple columnar '
(2) Simple squamous
(3) Ciliated columnar
(4) Cuboidal with brush border
The technology of biogas production was
developed in India mainly due to the efforts
of .
(1) NBRIand KVIC
(2) KVIC and IRRI
(3) IARIand KVIC:
(4) The Ministty of Environment and
Forests .
Hyderabad
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Choosé incomect statement about the features

of neoplastic cells

(1) They exhibit metastasis

(2) Avoid detection by NK cells

(3) Loss of contact inhibition

(4) Regulation of cell growth and
differentiaion

The protein encoded by the gene cryl Ab

controls

(1) Com baorer

(2) Cotton bollwroms

(3) Bacillus thuringiensis

(4) Leaf curl virus

The mycelium is aseptate and coenocytic in

(1) Coconut

(2) Rhizopus

(3) Agaricus

(4) Newraspora

The joint between carpals is

(1) Condyloid joint

(2) Gliding joint

(3) . Saddle joint

(4) Hinge joint |
Whmdin_gtwhﬁquahehzusmmlw
pure lines in dairy farms?

(1) Cross breeding

(2) Out crossing

(3) Inbreeding

Potato spindle tuber discase is caused by
(1) Virus
@) Viroid
(3) Prion
- (4) Fungus

72. Match the column A with column B

73.

74,

3 : Page 9

e ———

Column—A . | . ‘Column - B
A Precipitation of § Lysonyths
DNA
okl dssi 1. Chilled Ethanol
DNA
C. Bacterial cell wall | 111, Gel electro
digestion phoresis
D, Separation of DNA Iv. PCR
fragments -

V Ethidium bromide

o Gk N
o0 Jie0 | A o A0 N 1
@ VvV Iv 1 m
@ V-1 "V

@ oI 1 IV V

Statement A: Spleen is grave yard of RBC.

Statement B: Lymph bome antigens are

- filtered by spleen  to  activate

(1) Both statement A and statement B are, -

(2) Both statement A and statement B are

(3) Statement A is correct but statement B
is incorrect ,

(4) Statement A is incorrect but statement
B is correct

Disaccharidases are secreted by

(1) Pancreas

(2) Salivary glands

/(3 Crypts of Lieberkhun

(4 Gostricglands




75.

76.
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Which of the following Pin-gcochcmicﬂl
cycle has a major reservoir in sedimentary
rocks 7

(1) Nitrogen cycle

(2) Phosphorus cycle

(3) Carbon cycle

(4) More than one option is correct

Read the following
{i) Blubber below the skin

(ii) Larger ears and limbs

(iii) Thermoregulation

(iv) Acstivation

Which of the above adaptations help in

survival of mammals in polar region?

(1) 1,1, iii

(2) 1,m

(3) i, i, iv

(4) n, i

A) Inheritance of flower colowr in dog
flower plant shows codominance

B) Linkage helps to produce high degree
of recombinations

C) In Drosophila the male flies are bigger
and female flies are small _

D) Green pods in pea plant is a recessive
character :

How many of the above mention statements

are false 7

(1) 4

(2) 3

(3) 2

“@ 1

Photochemical smog pollution does not

contain

(1) Peroxyacylnitrate

(2) Ozone

(3) Nitrogen dioxide

9.

80.

81.

82.

83.

(4) Sulphur dioxide

Statement I : In pea seeds the starch grains
with Bb genotype are of intermediate size
Statoment IT : The size of starch grains in pea
seed is controlled by a p!eioﬁ'upic gene

(1) Both SI & SII are correct

(2) Both SI & SII are wrong

(3) Only SI is correct

(4) Only SII is correct

Identify the first restriction endonuclease
enzyme producing blunt ends

(1) EcoR1

(2) Hind 1l

(3) EcoRV

(4) Hind 111

If the recessive genotype frequency is 0.25 in
a Hardy — Weinberg population, the genotype
frequency of heterozygous individuals will
be

(1) 0.5

(2) 0.75

(3) 037

(4) 025

Choose  incorrect  statement
gl okl

(1) Produce inflammatory response
(2) Stimulate erythropoiesis

(3) Inhibit protein synthesis

(4)  Elevate blood glucose level _
Which one of the following is regarded as o
natural genctic engincer ?

(1) Neurospora

(2) Drosophila

(3) Agrobacterium

(4) Klebsiella : “

about




84

Non plastidial, non photosynthetic, water
soluble pigment present in the vacuole is

(1)
(2)
(3)

(4) Carotenoid

Anthocyanin
Phycoerythrin

Chlorophyll

RS, Which of the foliowifg is responsible for
formation of concentrated urine?
(1) Low asmolarity of blood
(2) Inhibition of aldosterone
(1) Passive diffusion of urea into medullary
interstitium
(4) Increase in GFR
86. Select ocorrect option with reference (o
cockroach
(1) Malpighian tubules excrete uric acid
into mid gut
(2) Males bear phallomeres and caudal
styles |
(3) Metathoracic wings are called tegmina
(4) Dorsal nerve cord shows paired ganglia
87,  Given below is the scientific name of Mango.
Identify the correctly written name
(1) Mangifers Indica
() Mangifera Indica
(3) mangifera indica
(4) Mangifera indica ‘
88, Hypoglycemic hormone
(1) Ghucagon
{2) Insulin
(3) Cortisol
(4) Adrenalin
89, Identify the A and B from the given diagram
in relation to sex organs of Chara.
Sri Chaitanya

90,

91.
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S AR S
(1) Archegonium Antheridium
(2) Antheridium | Archegonium
(3) Antheridium Oogonium
@ Nucule | Globule
The specific receptors responsible for

maintenance of body balance

(1) Hair cells of organ of Corti

(2) Otoliths and macula lutea

(3) Cochlea and Crista

(4) Crista ampullaris and macula

If ‘R’ is Rydberg’s constant, C-velocity of.
light, h-Plank's constant, L-inductance,

V-electric potential, r-electric resistance,

i-current and c-capacitante then which of the

following has same dimensions as that of
RCh .

o 2]

di

(2) L[Et_]
(3) Le '
(4) rc :
Person A moving with a constant velocity of
20m/s wishes to catch person B who starts
from rest and moving with constant
accelemtion of 2ms™ in same direction 100m
ahead of him. Determine time taken by
person A to catich B
(1) 10s

@) 20% '

(3) 30s

(4) 408




93" Rain is falling with speed 12V2 m/sat an ) (100'?*“’“}]”'

gle0f45ow1ﬂlmtlcllhm.ﬁmma < g
glider going at 2 speed of ‘v’ at angle of 37° (2) (lﬂﬂf + ZOOj)M
with horizontal with respect to ground. The T
speed ( in m/s) of glider 5o that rain appears @) (1007 +507)m

to him falling vertically is (motion of glider

and rain drops are in same vertical planc) (4) (200f+1ﬂ0f')ﬂ

96. A particle is moving in a plane with velocity

\ ‘v* as shown. If it is now acted upon by
\qﬁg forces F,,F, and F, of magnitude 10N, 10N
and 15N respectively in the same plane as

37
@ 15 shown thcn_
@ 60 A
(3) 20
4 30

94. Att=0, two trucks A and B were at same
point on the road. They are moving along
parallel lines. Motion of trucks A and B are
represented by bold and detted lines
respectively. Attimet=1t,

- - < P ;
v} B2l | : |
(1) its velocity changes only in magnitude

(2) its velocity changes only in direction

(€) 1tswiomtyohangmmbothmgmmde

: and direction

t;_.-t (4) ltsvelomtymninsm :

(1) Truck B is ahead of truck A 97: Three bodies are moving as shown below.

+ @  Acceleration of trucks. A and B are The total kinetic energy of the system of

equal ‘ + three masses in the frame of reference of ‘B’
(3) Mufl:mckhdmmdspaed is .

of truck B increases () 1 m/s 2m/s 3m/s @
'(4) Truck A is ahead of truck B e 1kg e ey

95. A projectile is thrown, from the origin along (1 13]
X-Y plane to have maximum possible | : : :
horizontal range of 200 m. The position KA b

vector of the projectile when its speed is (3) 2055 . - .'
‘ minimum is (take Y on the vertical axis) 4 85) A
Sri Chaitanya Poonie e -
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100,

101,
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A toy car can doliver a constant power of 20
W. The resistive force on the car Isav where
V' i velocity of oar in m/s, If maximum
velocity of oar is 2 m/s, then the value of

is

(nH 10
() 3
(3) 15
4) 20

In a ciroular motion of a particle, the
tangential acceleration of the particle is given

by a =9m/s’, The_radius of the eircle s

4m. The particle was initially ot rest, Time
after which acceleration of the particle makes
an angle of 45" with the radial acceleration is

(N

(2)
(3) Is
(4)

A ball of mass ‘m' moving at speed ‘u’
makes a head on collision with an identical

ball at rest. The kinetic energy of the balls

after the collision is three-fourth ‘of the
original. The coefficient of restitution (e) is
(1 1

2) 0

(3)5

(4) T
lnhﬁmﬂmmmm BC.C'D
and DA of same length and of masses ‘m’,
2m, 3m and 4m respectively amanged in the
form of u square. The region in which
(oumbered 1,2,3,4) the centre of mass of
system lies in .

102,

103,

104,

(1)
(2)

region |

region 2
(3) region }
(4) region 4
A dise at rest at the top of the inclined plane ~
of height W’ rolls down without slipping and
acquires n velocity ‘v’ on reaching the
bottom. If the same disc slides down a
smooth incline and acquires the same
velocity on reaching the bottom then the
height of amooth incline is

(1) W3

(2) h2
(3) 203
4 h

Let A and B be the points respectively above
and below the earth’s surface each at a
distance equal to half the radius of the carth.
If the scceleration due to gravity at these
poimbenmdumpﬂwiy the ratio

8o Ba S

(1) 11

@) 9B linisa

(3) 89

(4}3“\1
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10s,

An ideal gas occupies a volume of 2m3 at a
pressure of 3 * 106 Pa. The energy of the gas

is:

(1)
(2)
3
)

3% 102
1087

6x10%]
9x109]

_ A block of mass ‘m’ and surface area A just

begins to slide down an incline when the
angle of inclination is 30°. Keeping the mass
of the block same, if the surface area is

doubled, without any change in surface finish

107.

108.

Sri Chaitanya

then the inclination of the plane at which the

block starts sliding will be

(1 60°

@ 30

3) 15°

@ 45°

If a body is performing SHM, then its

A)nvmgek:inc.ﬁcmergypercycleiseqml

to half of its maximum kinetic energy

B) mean speed over a complete cycle is equal
5 :

to ; times of its maximum speed

(1)

2

Oaly A is correct

Only B is correct

(3) Both A and B are correct

(4) BothAandBarewrong =
A solid sphere of radius ‘R’ is floating in 2

liquid with half its volume submerged. When |

ﬂ::sph:rcupmseddomahghﬂymd

Mummnmumw 5

id

time period is .

109,

110.

111.

mﬂh 5

1))
?)
3)

2 |[—

(4)

Two immiscible liquids of densities d and 2d

are taken in a cylindrical vessel with equal

heights each ‘h’. An efflux of the liquid

coming out of the orifice of area ‘A’ made to

the wall of the vessel at its bottom. The force

on the vessel is

(1) Adgh

(2) 6 Adgh.

(3) 3Adgh

(4) 4 Adgh.

Bulk modulus of a material, whose Poison’s

ratio equal to 0.5'is ;

(1) Zero

2)  infinity _

(3) of the order of 10" Pa

() of the order of 10* Pa

Gﬂnsusupm.themnkofdlyu(lm:p)

bemuse . .

(1) uflugh surface tmuian of oil

(2) of capillaries formed in the wick-

(3) angle of contact between oil and wick
;g obtnae ) ’,' ' | i

(4) m !'m:u bltmn oil molecules
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113

114,

hree rods of identical cross-section and of
sume material form the sides of right angled
isonceles triangle as shown, If the points A
and B are maintained at 100°C and 20°C,

then the steady state temperature of point C,

will be

C

60°C

90°C

(3) 30°C

(4) 40°C

A given ray of light suffers minimum
devistion in an equilateral prism P. If
refractive index increases slightly, then the
ruy will now suffer y :

(1) greater deviation

(2) no deviation

(3) same deviation as before

(4) less deviation

A ving is rotated about a diametric axis in a
uniform magnetic field perpendicular to the
plane of the ring with a time period 10 s. If

(1)
(2)

initially the planc of the ring is perpendicular |

to the magnetic field then the instant of time
at which EMF will be maximum & minimum

115.

116.

108,55

58,75s

(3) 2587558

(4) 258,58

Given setup which is shown in figure,
converges parallel beam of light at point Py.
If the surrounding medium of the set-up 15
replaced by transparent fluid of refractive
index 2 then the same parallel beam appears
Wmmcﬁmwmh,mmrm;h

(1)
(2)

f=10 cm
e D
;_:»-:332
(1) 70em
(2) 20em
(3 Wem ) S
(4 30cm st 3 b
Whichdhfoﬂowmgmllw .

(2) Yellow light is used in fog lamps for
vehicles as it is scattered most by fog
pertic |

Red light is used as danger signal as it
is scattered least by atmospheric
(c) In primary rainbow violet appears on

(b)

respectively for the first time is ﬂlﬂ”'@‘ﬁ

X+ X %X %% {1}* e b B Wi sk sk

L g T

2 . a m Mé*‘jﬂn i aw . Fdomlog
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117,

118.

119.

120.

In a single slit diffraction set up, second

mm:m:uubscrwdalmangltﬁﬂ The
expected position of first minima is

1y 30°

(2) 45°

@) <30’

#) >60°

A young's double slit experiment uses two
monochromatic point sources. The shape of
interference fringes formed on the screen
parallel to plane of the slits is

(1) Hyperbola

(2) Parabola

(3) Straight line

(4) Circle

At an instant, two electrons enter normally
with same speed v, one into region of
uniform electric field and other into uniform
maguetic ficld. After some time, if de Broglie
wavelength of two clectrons respectively are
A and 2, then ;

() %4=4

(2 A>4

@) A<,

@) A =24

A particle of charge equal to that of an
electron, -¢ and mass 208 times the mass of
clectron (called x-meson) moves in a
circular orbit around a nucleus of charge +3¢
(take the mass of the nucleus to be infinite).
Assuming that Bohr model of the atom is
lpphubletaﬂtulymﬁndﬂnvﬂmnf
‘0’ for which the radius of the orbit ig

approximately the same as that of the ﬂl’lt
Wmhm‘mm

Eﬂw

121.

122.

.The half-life of a radioactive nucl

M 25
2 1

(3) 5

4) 15
4 eus is 50

days. The time interval (t2-t1) between the
limetzwhcnwofilhasdacayodmdthc

time t; when 1/3 of it had decayed ?s

(1) 60 days
2) 15 days
(3) 30 days
(4) 50 days
In which of the following cases, the transistor
is operating in the active region?
ov
2V
) oV




124.

Which of the following statements is
correct?

14

A

—)—FV
H

It 18 V-1 characteristic for solar cell

(1)
where, point A represents open circuit
voltage and point B short circuit
current

It is for a solar cell and point A and B
represent open circuit voltage and
current, respectively

It is for photodiode and point A and B
represent  open circuit voltage and
current, respectively

It is for & LED and points A and B
represent open circuit voltage and short
gircuit current, respectively

An LCR series circuit is compared with a

(3)

(4

126.

(2
1 w—
M) 5
@) &
£y
o) -
£y
3o
Yo, s
) 4,

Figure shows some  equipotential lines

distributed in space. A charged particle is
moved from point A to point B

TUL UL s ke I« B
R
L Ap 4 B AT T
10V 20V 30V 40V 50V gy |40V SOV
Field-! Field-I1

" (1) The work done in field T is greater

(2) Thnworkﬂuncinﬁddlismﬂﬁr
(3) The work done is the same in field I

damped oscillator of mass ‘m’ with force and field I ,

constant K and damping coefficient ‘b’. The ' 4)  The work done is zero in field I and is

correct matching of quantifies in damped LT \ -

oscillator analogous with those in LCR positive in ficld II .

circuit is 127. In a potentiometer experiment, the

M L—Ivm,C—-}-}-,R—ib galvanometer shows no deflection when a

k cell is connected across 60cm of the

@ L-mC-okR-b potentiometer wire. If the cell is shunted by a

(3) L-okC—bRo>m resistance of 6£), the balance is obtained

@ L-;—l-,C—r—I-,R-b— across 51?:.:111 of the wire. The internal

m k b resistance of the cell is

surface charge density +o Cm’”, If they are e

inclined at an angle 60° with cach other then | (2 0082

the magnitude of electric field strength at a 3 120 EIE

point in between the plane sheets of charge is @ 150 TR
Brlﬂnhnyl Page 17 Hyderabad
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128. A dip circle is placed in geographic meridian

129.

at a place where dip and declination are &
and D respectively. The dip measuréd by dip
circle is

(1 &
) tan” mnﬂ)
\8in D
s D
an™! F.Pl_.]
°) \ tan &
af tan 8
|
o, . \cosn)

If a long hollow copper pipe carries a direct
current, the magnetic field associated with
the current will be |

(1) Only inside the pipe

(2) Only outside the pipe

(3) Both inside and outside the pipe

(4) Neither inside nor outside the pipe

130. An electron orbiting around a®nucleus has

131,

S N o "‘J M -
. (d“.?'.-i 14‘.@; W’ '.L )

(4) Visible radiation (). 1

b --"1."1'!'. |"|:“

Mm - Pt Lad" 2=

angular momentum L. The magnetic field
produced by the clectron at the centre of the
orbit can be expressed as (Terms have their.

‘usual meaning)
iz i) ¢
o (=)

o ()

=

3

Ozone layer blocks
(1) Infrared radiation !
(3) Ultaviolet radiation

132,

133,

| ‘and 2 baving NI
nde from the same wire

. i A wice that of
but the radius of the 1° coll 18 1

i erence
the 2™ coil. The ratio of potential ‘uﬂ‘.ﬂ; .
at the magnetio Hlel

Two circular colls
number of turns are 1

applied across them §0 th
at their centres is the same I8

1) 1
(2) 2
(3 6

(4) 4

The conducting shells A and B are nrrununld
.as shown below. If charge on the shell B is
‘q" then electric flux linked with the spherical

Gaussian surface S is

28 "
(2) 26,
@), -+
T g
4y oL
| 4) 7
Two wires mad® of same material having

134,

" g

 Pigess

same length and of radii ‘v and 2r
respectively are welded together end to end.
The combination is used as a sonometer wire
and is kept under a tension T. When

stationary waves are set up in the wires then
 joint is a node. The ratio of number of loops

formed in the wires, is

(1) 2:3
L) dals
(&)Y w12 )

(4) 14




135. The wavelength of the spectrsl line coming The anode is
from & star is changed from 6000A° to (1) H
6001A". The velocity of the star with respect (2) SO
to the carth 15
(1) 2510 approach ) Baen
4) O
2y 25x10°ms™ recession
(3) $x10%°%n™" approsch LoT. The veaction “of D=O=m1 with
(4) Sx10'm" seccesion BH, | THF followed by H;0. OH gives
136. Zsegiar -~ Natta catalyst is an organometallic FohﬂhuﬂmihNaBHggivuhw
compound of which metal B.°A’ and ‘B’ are vel
(1) Iron .
{2y ZEconium ® 0=C>—{:H,(ﬂndw CH,
(3) Rhodium -
(4) Titanium m:=‘< x o= )—cuoH
137. Which of the following will contains @ = H'"d
IREXITIET enot gy m!{xm 0=<:>—‘Cﬂs
@) 2sm) 2 -
s o A g
() 280Na) ) and
@ 25K) 142, Carbon ‘monoxide is. harmful to * human
138. Which among the following is not a cofrect beings as it
combination ? (1) Is carcinogenic
(1) Antacid : Cimetidine or Ranitidine (2) Isantagonmistic to COz
_ (2) Analgesics : Aspirin or Morphine (3) Has higher affinity for haemoglobin as
_‘"b (3) Anti depressants: Jpromiazid or compared to oxygen
: Phenelzine _ (4) Is destructive to CO;
_ ) Disinfectanis: 0.2% sofution of pbenol | 143. Which among the following set s incorrect ?
or Furacine (1) Increasing order of bond order :
139, Which of the following orders is wrong ? 0,2 <0y<0
(1) F2>Cl>Bry>;...oxidizing power (2) Tncreasing order of bond angle :
2) Be < Li < C < B —ionisation potential SnCls < BCh <BeCh
(3) ALO, <MgO < Na,0<K,0—Basic (3) Increasing order of dipole moment :
4) Bl"?ﬁ_t"?Cﬂ"rﬂ-H"’viﬁcnﬁu ~ NHy<NF; g vlng &
140, During the preparstion of ‘H:Op by | (4) Increasing order of C-C bond length :
. electrolytic method the product formed at  |©  Ethyne < Ethene < Benzeoo <Ethane
. % | \g ' Page1d ‘.M*

—
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144, In which of the following, the metal-ligand
bond has both o and = borid character

(1) [Co(NHs)¢™

(2) [Ni(CO)4]

@) [PCL]”

(4) [Co(NH:):Ch]

S-1 : Entropy of a perfect” crystalline
substance at absolute zero is zero.

S-II : At absolute zero translational kinetic
energy of a system is zero.

(1) Both S-I & Il are correct .

(2) S-lis correct, S-11 is in correct

(3) S is.incormct, S-II is correct

(4) Both are incorrect

Interhalogen compounds are more reactive
than the individual halogens except fluorine
because

145.

146.

(I) they are prepared by direct
combination of halogens

@ Xx- x-mummx Yol
X'- X" bonds

(3) ﬁwrmﬁunml,lymmmblcm.
halogen ; '

(4) there is a large difference in their
clectronegativity .

147.
45,5, sol
(1) moves towards anode -
(2 moves towards cathode
(3) neither -towards cathode nor towards
(4) both towards cathode and anode
148. The only actinoid element not exhibiting +3
Gxidation state in its compounds:
(1) Ac
Sri Chaitanya

ide)

In clectrophoresis ﬂlet‘-;ollmdalptrﬂclﬁs of

o 9 o

149.

150.

151,

(2) Th

@) Cf

(4) Pu

The chirality of the compound
'y
F/

H,C/C{ZH

(1) R

@ S

(3) Z

4 E

Solute ‘A’ is a ternary electrolyte (AB;) and
solute ‘B’ is a nnn,cle-e&olyte. If 0.1IM
sowtion of solute ‘B’ produces an osmotic
pressure of ‘2p’ , then 0.05M solution of ‘A’
at the same temperature will produce an
osmohcprassureoqualtﬂ ;

(1) 135p

2 2

3 3p
@ P

Cmﬁmmwmmm

mﬁmwmmau
reacﬁuum'

(1) Fitbgm '

1k #
= L

__ (2) WmﬂF{thgmuhm
3) Gmmnn:uﬁm_

(#),  Wartz reaction -

AIAAD

AR

L) #*W%ﬁmw
~of thesolutionis
--ml 8 .r« '

i SR S

L 'l.r“ - '}”‘} i_f“l -‘




153. Which will undergoes enolisation more

readily ?
"’\I:jﬁ
I

(1) o

(3)

|

® /\

Pby04 +8HCI — 3PbCly +Cly +4H,0
In the above reaction the number of moles of
HCJ are oxidised by one mole of PO,

(1 1

2) 4

(3) 8

) 2

Which among the following pair of species is
isostructural ?

(1) PCls&IFs

(2) Hs0" &NCh

(3) SO, & XeFz

(4) SO; & XeOs

156. A compound of formula AsB; has the hep

154,

155.

Sri Chaitanya

Page21

jattice which atom forms the hep lattice -nd
what fraction of tetrahedral voids 18

by the other atoms

(1) hep lattice-A, 2/3 tetrahedral voids—B
(2) hep lattice-A, 173 tetrahedral voids—B
{(3) hep lattice-B, 2/3 tetrahedral voids—A

(4) hep lattice-B, 1/3 tetrahedral voids—A
157. The ITUPAC name of the Wilkinsonlatll??t

[RRCIP Ph3)s] is

() SIS (triphenylphosphine)
rhodium (1)

(2) Chlorotris (triphenylphosphine)
rhodium (TV)

(3) Chlorotris (triphenylphosphine)
thodium (0)

(4) Chlorotris(triphenylphosphine)
rhodium (VI)

158. Pi&mtheemudmwﬂhrmw

[edet]
() 1t is outer orbital complex, SpC
hybridized and diamagnetic in nature
2) It is inner orbital complex, d_zm3
hyhidindmdpmw&inm
(3) It is incer orbital mpru.dzgp3
hﬁfbﬁﬂiz i and di l I: in .
(4) 1t is outer orbital complex, spd?
- Glycyl slanine ....dipeptide
(3) Insulin ... Globular protein :
' (4) Glycine .... Optically active amino acid




160. The boiling points of water and ethyl alcohol
are 373K and 351.3K respectively. The
mixture of water and ethyl alcohol at certain
composition forms azeotropic mixture and it
shows positive deviation from Raoult’s law.
At what minimum temperature the mixture
may boil ?

(1) 390K
(2) 351.3K
(3) 373K
(4) 350.15K
161. The IUPAC name of the comi:mmd 18
o :
CH,—FH#ICI:-MJ—CIHS
C,H;
(1) - N - ethyl - 2 - ethyl propanamide
(2) N -ethyl- 2: methyl butanamide
(3) N-ethyl-2- methyl propane carboxamide
(4) N-ethyl-2 - ethyl ethane carboxamide

162. The K.E of N molecule of O is “x” joules at
- 123°C. Another-sample of O, at 327°C has
a KE of ‘x’ joules. The latter sample
contains :
(1) N molecules of O
{2) 2N molecules of O,

(3) N2 molecules of O
(4) ‘N4 moleculesof0;

163. Which among CH,, 31#4,,'_6.2’;!4 and
SnH 4 ismost volatile ? W,

() S,
@ SiH,
() GeH,
Sri Chaitanya

g

164.

165.

166.

(40 CH 4

The monomers of Butyl rubber are

(1) Buta-1,3-diene & Vinyl cyanide

(2) Hexamethylene diamine & Adipic acid
(3) ~Isobutene & Isoprene

(4) Phenol & formaldehyde

The conjugate acid of Zn(OH), is

(m 70*2

@ [zn(oH)]"
) [ZM(OILI)_.,,TI

@) [Zn(ozH)]H'_

Which of the following refining method is
used if a metal contains high melting
impurities ?

(1) Zone refining

(2) Vapour phase refining

(3) Distillation

- (@) Liquation

167.

)

o 1 |

Which one of the following group shows
(=]

1 —NH;
6 .
@ —NH,Me

oy
—~NHMe,

- G 3 L . #
__NMea WS Ty
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168. .t':{r.f(ﬁzo)n} 'h[x(Hlﬂ)nT' i oo,
[ " .
Z =l(‘.c{_H2{)LJ , the correct order of size
of these hydrated alkali ions No,
(1) X>Y>Z )
. 172. The number of P-O-P and P-O-H bonds
e e present rcnpectivcly in pyrophosporic acid
() X=Y=L molecule
@ Z>X>Y (1 1,2
169 Incorrectly matched Q) 2.2
* (17 Clemmensen reduction - Na-Hg/HC/ (3 14
(2) Mesityl oxide — formed in aldol (4.8
condensation of acetone 173. The following data is observed for the
(3) Hemiacetal — alkoxy alkane reaction A+ B —» AB
(4) Gattermann - Koch reaction -~ €O + [A] [B] Rate in M/sec
HCI/ anhyd AICI 0.1M 0.IM |25«% lo*l
170. Which of the following ~ gives 0.2M 0.1M S.D.! 107
comproportionation tesction  with  cone, 0.2M 02M |10x107
H,50, | The order of reaction is:
() C (1 0
@ S 2 1
(3) Cu (3) 2
(4) CuHxnOy 4 15
171. Most scidic among the following is 174. In Kjeldahl’s method of estimation of
(1) CH,COOH nitrogen, CuSO, acts as o
OH (1) Oxidising agent r
' (2) Reducing agent
NO, (3) Catalytic agent L sh et ]
@ | () Hydrolysis agent
OH 3 lﬁ-'A@mﬂhﬂﬁh}u:MhMM
L -thefoﬂawlnspowuvhmr
o " (1 CICB L PGS
(3) @ M : (e
P) CaFz
4 Cal hy T

it : et 08



176. A 1000 mL dilute solution of Ag*

electrolyzed for 965 seconds with a current
of 125 mA and the silver is removed
What will be the initial

‘completely.

concentration (in molarity) of Ag*

(1) 2.50x10"
(2)
@)

@

232x 10"
232x 107
1.25x 107

177.
the valid graphical data 1s

Sy i
InKy

" Yiton

N

UT —

Y

uT

(1)

ink,

2

K,

3

(4) All the above

178.
. following order is correct

. F ] ! 1 -‘
/\/\/ <
R 7 <

Sri Chaitanya

For an Exothermic reaction at equilibrium,

Accmﬂmglothcmbd]itywlmhoftha

i8

179.

180.

@

@

(1)
(2)
3)
(4)

HBr Zn/H'

Propene » A

B—25C + methane
M@MSmmmis
(1) Intermediate fnq:icd in the formation
- of “A” is (cas)zz:ﬁ
(2) Bis propane
() Cis cthane
4 .}fa!ethzr }'i"
A sample of ozquised oxygen diffuses v2
times faster ‘than pure SO, gas under
identical conditions. mmm:ﬂ'ﬂ,

5 -3

-

| mmmﬂofmmu
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o9,
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